She is wearing a dress.

Answer:

The movie was
Answer:

This book is
Answer:

We had a holiday.
Answer:

He is a student.
Answer:

The weather is today.
Answer:

This bag is
Answer:

Her hair is
Answer:

That dog is
Answer:

The cake tastes
Answer:

A2



Answers

She is wearing a dress.
Answer: beautiful

The movie was

Answer: exciting

This book is

Answer: interesting

We had a holiday.
Answer: fantastic

Heis a student.
Answer: hardworking

The weather is today.
Answer: sunny

This bag is

Answer: stylish

Her hair is

Answer: long

That dog is

Answer: cute

The cake tastes
Answer: delicious



